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CLASS-VII
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GENERAL INSTRUCTIONS:
All questions are compulsory

1. The question paper contains four sections.

2. Section A has 40 questions (Competency based questions). Each question
carries 1 mark.

3. Section B has 8 questions (Reasoning based questions). Each question
carries 1 mark.

4. Section C has 12 questions (Short Answer questions). Each question
carries 2 marks. Answer of these questions should not exceed 20-30
words each.

5. Section D has 2 questions (Long answer questions). Each question carries
4 marks. Answer of these questions should not exceed 60-80 words each.
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1.1).

1.2).

1.3).

1.4)

1.5).

Section A Competency based questions :-

Answer the following questions 1-5 after reading the given Source
carefully:

Minhaj —I —Siraj thought that the queen’s rule went against the ideal social
order created by God, in which women were supposed to be subordinate to
men. He therefore asked; in the register of God’s creation, since her account
did not fall under the column of men, how did she gain from all her excellent
qualities?

Aegrar-v-RAsT &1 Agar ar 6 S o S e A cuaEdr
918 § 3 3TAR &3t i qost & 37T ger @i AR el
TR 38 cTaeUT & favey Sifal U1l ST a8 qodm & ; gaT &
TIAT & Wi # 3T &GN I AGH &1 I H 78T 3rdr, safav
el Afer Gieat @ off 38 MR gridrer FaT 32

Who was Minhaj | Siraj? Aegre-T -f8RTeT Sl a1?

a) apoet T Hid|

b) aking Tah TGl |

c) achronicler T sfagras|

d) None of these 378 & HIs Y TGI|

Which queen Minhaj-I-Siraj is talking about?

Tegrer -U- e & fofw el &1 o fohar g7
a) Razia Sultan IGar ol |

b) Noorjahan FXSTeT|

c) Padmavati AT |

d) Mumtaj Mahal HAATST HAge |
What was the condition of women in ideal social order created by God?

S & CART Jols 15 ITGeT AT Ta¥AT H A3t Hhr &
reufa or 2

a) They were independent & Faaa f|

b) They were equal to men. & J&ST & sRTSR AT

c) They were superior thanmen & &Sl & 45 |

d) They were subordinate to men. d &St & 37efieT |

In medieval history men were regarded as superior than women (True/false)
ALY HToT A YeNl I ARG @ AT AT ST AT (Fed/31TcY)

The queen was removed from throne because—

T 1 gt @ ger & I it

1x5=5




a) Shewas lazy S8 g&d 1|

b) She was arrogant S8 g#ar Y|

c) She was awoman §§ Teh Hfgelm AT
d) All of these T3 T £

Q2

2.1).

2.2).

Observe the pictures(A(image)&B(map)) carefully and answer the questions

ar RET & eI ¥ W qur A Y T yeaAt & 3T &

(B)
Name the structure depicted in the picture.

O & gUg IS SHARAT T AT §dTU

a)Rajarajeshvara temple b) Kandariya Mahadeva temple c¢) Vrindavan
temple  d) None of these

a) ToRTaRaER #HfeT b)ysheRaT #EeT AT ) gerad Al
d) #1$ &t 77|

Which dynasty built such a magnificent Structure?

SH 9T SARG &1 AT fhg Torder ¥ samr ?
a) chola =eT b) Chera WX c) chandela TceT d) pala 9Tet

1x5=5




2.3).

2.4).

2.5).

(B)Locate on the map of India.
The temple raided by Mahmud Ghazni in Gujrat.

HEIE ST & GaNT oI H del I AT

a) Mathura ®HRT  b) Kashishrell  c) Somnath EHATY
d) None of these IS 8 &I

City of tripartite struggle F9efr gy & Fefeyd WR

a) Kannauj @esilsT  b) Pryaga 93T  c) Kalinga shfelar
d) Mathura H#IT

City under the control of the Chahamanas

AIgATAT & [ATT0T F AT dTell IR
a) Paharpur 9grsqY  b) Badami SerHT ¢) Madurai mﬁé
d) Ajmer 315X

Q3.

3.1).

3.2).

3.3).

3.4).

3.5).

Observe the image carefully and answer the questions given below-

& 7§ A A SO F FEA F 3N AR weaAt F 3 &-

—

|

The outer layer of the Earth is— JedY & Fad FIT TR FEal & -
a).Crust gUerb). Core IS  c). Mantle et d). None of these &S &

ool |

The second layer of the earth extends up to--- J2dl & @I T T
a)35 km (fh#T) b) 3500km (fhaT) c) 2900km (TRaT) d) 55 km(fara)
The mantle is made up of molten magma( True/False)

Heo gfad AeaAT ¥ 94T F(HT/3F)
The thinnest layer of Earth is called— J2dY &I #e8 ddell R § --
a) Crustq9er b)Coreshs  c)Mantle HeaT  d) None of these.

FIS o 7ET|

The innermost layer of the earth is —

g T g Mol W
a).Crustguddr  b)core 8 c)mantledeaT  d) None of theseas off =TgT

1x5=5




Q.4

4.1).

4.2).

4.3).

Read the story carefully and answer the questions given below-
FEEAT Pl €I H UG Y o1 QU T g2t & 3R &

Hakim sheikh was a member of the Paschim Banga Khet Majdoor Samity
(PBKMS) an organisation of agricultural labourers in West Bengal. One
evening in 1992, he accidentally fell of a running train and suffered head
injuries. He was very serious and taken to a government hospital in Kolkata
but the refused to admit him because they did not have spare bed. Another
hospital did not have the facility or specialised doctors necessary for his
treatment. In this way he spent 40 hours in a critical state and was taken to
eight different government hospitals, but none of them admitted them. Finally,
he was admitted in a private hospital, where he received treatment. He spent a
lot of money on his treatment. Angry and upset over the indifferent attitudes
of all the hospitals that refused to admit him, Hakim sheikh and PBKMS filed
a case in the court.

gifehd AW, IIRTH T Holgy AT (O, . . TH. TH.) & Th
Terg ¥, afRus Foner # Widey Aslqy & Teh Haroel &1 1992 #
Th AH J Toldl & & AR 90 3R 3¢ R & iR 9 3|
3T gTeld g gl aligfeh A 3R 3o A Selol d JTaRIehcr AN
36 IRl & Tdh TR HETATS H of ST 31T, oAfhed 3og T
el & foT FAaT F I a1, FHife g8t wis TR @relr SigT A
GEY TS # TGS GiAtU AT 3o9eh Tolol & ToIT AU 76T
¥ 37 YPR 3JAd IR gold H 30 dleg gl # 36 TRy
3EqdTell & of S I, g TRl & o 37 st wET famam

3T H 30 T (Aol 3diel & 97dl ST IR™AT SGT 3eThl SolTal
WWlsﬂ%ﬁmﬁréﬂH%ma@ﬁwaﬁ%mlm
ATl o 3eg Al A T PR A fGAqT U1, 3o IUETOT W&
¥ RIS 3R &Iswr gae |, gifehd @ g . &l &. TH. TE. o FIC
# HheAT SRR AT fe|

Hakim sheikh was a big landlord(true/False)

gifehd AW Teh §3T SFTHIGR AT| ( FcI/3Y)

What happened to Hakim Sheikh?
gifped 9@ & Iy &7 gfed g3m?

a) He lost his crops. 38T wH IS¢ & 5|

b) He was beaten by people 38T F& ollalt o fUers & 2|

c) He was suffering from serious disease.dg IFHR AR & 7 {T 2|
d) He metan accident §& Tsh GeeaT T RIHR g3l

Why was Hakim Sheikh denied treatment in government hospitals?

1x5=5




gIfheT G Pl I TPRT ITAATAT o Sollel el H SPR FAT HT
fear?

a) He was a Muslim. ag Ueh HiEo 7|

b) He was a criminal dg UTeh 39Tl 27|

¢) Hewas aforeigner ag Ua faeel am|
d) Hospitals did not have spare beds.37/EqdTeil H @rell 88 o glaT|

4.4). Hakim sheikh visited--------- different government hospitals for his
treatment? gIfpd AT F 39 SoTel & fAT - 37037376137
3Edrelr HAT R

4.5). Which statement is true about private hospitals?

fsl 3regdrell & R & i TT FAT T 87
a). They are owned by government.
I WEHR & garT Hafdd gid g
b).The treatment cost is high.
SoTH Solfel & WAT 3icafds 8ar gl
c)They are concentrated in rural areas.
I 3rfOierd ATHUT SaTehl A hiegd &1 &l
d).All are true I I &1
Q5 1x5=5
State Women | Women | Women | Men Men Men
T paid unpaid (Total) | paid unpaid (Total)
work house &gt | work housewo | gzt
hour per | work hour rk hour | 2
week hour per & Dol per per week & el
f&yab | week FrH & | week | gast F | FwrEH F
b oo | TR E gy | TF| e
ahg | ¥R LG J N
w5 | P N T | %
oy | T O | o)
Ferg) | Foe) (g
GTdT)
Haryana 23 30 ? 38 2 ?
g
Punjab 19 35 ? 40 4 ?
EEICH

Read the data carefully and answer the following questions

arferesT & o 91T 3narsl & €O @ ud dur Aeafaif@a ue&ar &
3K &-




5.1).

5.2).

5.3).

5.4).

5.5).

What are the total number of work hours spent by women in Haryana and
Punjab each week? gRATOT 3R daie Ieat # f&ar wfd @cdrg el
fhcer € @ e §

a) 53 hours T

b) 54 hours ©¢

c) 65 hours &

d) 107 hours ¢

What are the total number of work hours spent by men in Haryana and
Punjab each week?

gRAMOT 3R ol I A G2Y Ifd Fecle Fol v g FoA
A &2

a) 40 hours g€

b) 44 hours ¢

¢) 78 hours T

d) 84 hours B¢

What is the difference between work hour spent by men and women in two
states?

alel eat & FEIAt vd st & i # fhder 3 87
a) 19 hours ©¢
b) 23 hours ¢
¢) 10 hours €<
d) 7hours ©C

Who spent more time in unpaid house work per week in two states?
alel oAt # Aafd B HH H AE qA e sadid
gl 872

a) Men g&ul 7|

b) Women &7 |

c) Both sl ]|

d) None. Th&T &1 T =T8T

Women are double burdened because-
&3t gret sy &1 ReR § F3ifh
a) They spend more hours in paid work.
3 dafae T 7 310 AT <Idig Fdr 1
b) They spend more hours in unpaid house work

3 3 Fraf 7 3130 AT cgda aar B




c) They labour both inside the home and outside.
d W F AT AT T & FE-HN FATel 2
d) All of the above T U7 TT &

Q.6

6.1).

6.2).

6.3).

Read the paragraph carefully and answer the questions:-

Carbon dioxide released in the atmosphere creates a greenhouse effect by
trapping the heat radiated from the earth. It is therefore called greenhouse gas
and without it the earth would have been too cold to live in. however, when
its level in the atmosphere increases due to factory smoke or car fumes, the
heat retained increases the temperature of the earth this is called global
warming. This rise in temperature rise in temperature causes the snow in the
coldest part of the world to melt, rise in sea level, climate changes and
extinction of plants and animals in the long run.

Teel SISIHIFHISS aFHSS H el T g2dT @ fafeRa AT & gt
W Uhh AT §13H THIT Uer il g1 AT 38 WA 139 3T ot
FEd &l AR TR T H ERAT 3= 33 & el b 7 W @A
36 grarl fhg S FREET 9 FR & U ¥ aGHST H SHE
TR Tl 8, d9 3H FAT & AR Qe & d9AT d6aT 8l 30
HFASAT el FEd ol ATIHAT F JG[T F HROT A & FEH 33
geRr 7 St g5 9% Mued 71 fSad aRumHEaET 9Hqg & Sef &R
# et gicll 8,788 ad &=t 7 a1g 31 S g1 & At 7 sHe
FROT Siefdrg H caftH gRadsT g o §,79d9% HeEasy P
aer Ud 9 ofcd & Fhd &l

What is atmosphere? arJHS T §7?

a). Solid crust of the earth. J2dT & HoR T

b). Blanket of the air that surround the earth.92dY sl eR=l STl arg
HIRd|

c). Domain of water. STel &7 &7 |
d). All of these. g8

Which gas is called greenhouse gas?

Pl @ A AT gEw AT Fgarar § ?
a).0xygen 3TF&ESTeT |

b).Nitrogen sTsgiStel |

c).Carbon dioxide FEESEHFAESS|

d). None of these. 781 & Fis o =igT |

Which is not responsible for global warming?
SoTH @ hisT T HHSCT THHIOT T HROT g § ?

1x5=5




a) Factory smoke SRE@MAT &I 437 |
b) Car fume R T 31T |

c) Growing plant diet &1 39TTT|
d) None of theses 1 8 77ET|

6.4). What is the effect of global warming?
HHASCN ATRRIOT T FAT THIE Giell &7
a) Rise in sea level Tz & SeFck & e |
b) Increase in population STHHEAT & Fefer |
c) Climatic change STefarg aRad |
d) Botha&c. T 3R & g=r
6.5). How can we stop global warming?
Tolldel aIfAeT &l FE AHN ST Fohdl § ?
a).Recycle more  Db) plant trees c) Save water  d) all of these
SEEER ster 2gor STOTERETOT SR
Q7 Multiple Choice questions 5x1=5
7.1). Which of these sources are used by historians?
SAH & HieT AT Fd SfAGERRI o G@RT JAT H T Sdr g ?
a) Inscriptions3if¥er@  b) Coins &k  ¢) Manuscripts igfaIfaar
d) All of these. @sfr |
7.2). Name the language of administration under the Delhi Sultans.
feee Godel & Hcd FITHeT T &9 Hisf &Y o 2
aHindi f&=dr b) Sanskrit E€hel c) Persian BREAT  d) Urdu.3§
7.3). | Which domain protect us from harmful rays of the Sun
Sl AT ARAST I HI gIfArRen ol @ AR &I AT 872
a) Lithosphere TIIHSA  b) hydrosphere STeTHSel  ¢) atmosphere
agHS S d) biosphere. ShaHse
7:4). The rhythmic rise and fall of ocean water twice in a day is called :
et & &F IR [ & AGEIRIT S FT 36T g FIRAT Fgardie?
a) TideSdX-ATET b) ocean current FETATIRIT &RTT  c) Wave
asr d) water cycle. STeT Ish
7.5). | =m==—m--- is written or unwritten document in which rules of running the

government are given.falf@d ta 31fef@a geaasr FasH TR &t
BEIC I R e E= BT EG i) — Fgeldr gl




a) Law hlefel b) Constitution FfaTsT ) Government TIhIX

d) None of these.3=T37 & @Is 3T &r|
Q8 Match the following: AT &Y 5x1=5
a) Mansab #AJIHT 1) Taj Mahal drsiHgel
b) Subadar H&GR 2) Jahangir STBTEIR
c) Nurjahan =TsTgl 3) Akbar  3TheX
d) Sulh-i-kul geg-T-Fel 4) Rank 9q
e) Shahjahan 2Mgsigl 5) Governor I&eX
Section B Reasoning based questions: - 8x1=8
Question no 9-16 are reasoning based questions. Read the instruction
carefully and answer the questions.
U TEAT 9-16 doh dhelfFd 3TemRd U ¢ fAdel & e & ug
T 3N g
Arrange in descending chronological order Tgl 3ddT a2l $hal T
Qs a) Shahjahan 2MgsTgl b) Akbar 37&s¥ c) Jahangir T8I d) Aurangzeb
3iReTSIT|
l)abcd I1) bcda [11) bcad IV) dcba
Q.10 | @) Slave dynasty IeTHERT  b) Tughlag dynasty aTeaT d2r c) Khalji
dynasty @eToir d2r  d Syyed dynasty &3¢ aer
). abcd I1).bcda I11).achbd IV).dcba
Choose the correct alternative ¥gr fd&eq ?’?T
11). Country: President: State: ?
ger : Iseyfd ;ST ?
12). Floodplain: river: Sand dunes: ?
STgehd Hle: QT SleffesaT: ?
Hindu: Temple: Muslim: ?
13). feeg @ Afex : HREoH: ?
14). Joothan: OmprakashValmiki : Sultana’s dream: ?
S[oeT 3NHAYRIRN dTfeHel: Fodlel HI Faue: ?
Choose odd one 33 BIe-
15). | a).land &  b) water STel c) Road 5% d) air Y




16). |a)Ganga 3@ b) Indus Y c) YamunaIHAT  d) Himalaya fg#Tera
Section C Short Answer type questions: - 12x2
17). How were the affairs of jatis regulated in medieval period? =24
Sfat & #8e Hd GAAT Sl & 2
18). Who were the parties involved in tripartite struggle?
Buefr gay 7 gFafad ge7 fla-2 a9 & 2
19). What is an ecosystem? GTRTT T §7
20). | How are floodplains formed? sTeehc #Heel & s=id &2
21). | Name three types of rainfall? asT & Il YhR FATT?
22). | What is water cycle? STef =sh 3T 87?
23). In a democracy why universal adult franchise important?
Aehdd # AraHTAS aaEh AdIMUSR FA1 Agcaqol g2
24). Write any two works of an M.L.A in the assembly?
faeneasT & (Us & af FF FAre?
25). Why was Ramabai given the title of Pandita?
S & gftsar fr 3o w4t & a5 oAr?
26). State two ways in which Article 15 addresses inequality?
FS &7 AF JAST O IO 15 AT H T HAT HAT 872
27). What is the difference between exogenic and endogenic forces?
afgaifae aur sigaifaa o & a1 3w 872
28). Give reasons &RUT ddSU ---
Man Modifies his environment #Tdd 3797 9ATaT0T H 9RadT FHT &
Or
Plants and animals depend on each other T Td SMa-Sf] Ush-ga@ W
AT §
Section D Long Answer type questions: - 2x4=8
29). In what ways has the meaning of the term “Hindustan” changed over the
centuries?
ool &% erdrfeedl # BgedieT Usq a1 3 H@ JEen g ?
30). Why do you think that the percentage of Adivasi girls and boys leaving

school is higher than that of any other group?
3 faam 7 3w @l gelt iy goren , nfeardr ase-astt dr
faerery oIS $r aT 3w i g2




